C:# Checking Division Answers

Name:
Check each answer. Determineif the answer is'correct' or 'not'. Answers
7/ Division problems can be 263 + 8=3217 182+6=2915
checked by multiplying the 39 29 1
quotient by the divisor and then 3 6
adding the remainder. X X
256 174 2.
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 19 2@ |3

1) 865+8=1432r1

3 277+3=92

5 779+2=1389r1

7) 975+9=108r3

9 379+7=54r1

2) 473+9=52r5

4) 878+7=125r3

6) 604+3=75r4

8) 242+4=60r3

10) 624+5=124r4
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ﬂh Checking Division Answers Name: Answer Key

Check each answer. Determineif the answer is'correct’ or 'not'. Answers
/ Division problems can be 263+ 8=32r7 182 +6=29r5 \
checked by multiplying the - 29 1 not
quotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2. correct
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 1792@ |3 not
1) 865:8=432r1 432 2) 473:9=5215 52 4 __correct
* 8 * 9 5. COrrect
3456 468
+ 1 + 5 6. not
3457 473
7. correct
3 277+3=92 Q2 4) 878+7=125r3 125
x 3 x 7 g not
276 875
+ 0 + 3 9. correct
276 878 o correct
9 779+2=389r1 389 6) 604+3=75r4 75
x 2 x 3
778 225
+ 1 + 4
779 229
7) 975+9=108r3 108 8) 242+4=60r3 60
x 9 X 4
972 240
+ 3 + 3
975 243
9 379+7=54r1 54 10) 624+5=124r4 124
x 7 x 5
378 620
+ 1 + 4
379 624
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